

# Garage (Residential) in Xemxija



**Xemxija, North**



**€64,000**

Reference No: 240461057-261

 Total Rooms: **0**

 Floor Area (m<sup>2</sup>) : **14**

 Bathrooms: **0**

 Bedrooms: **0**

# Garage (Residential) - For Sale - Xemxija

St Paul's Bay – Xemxija - Garage - Underneath the building block, there is a 1-car garage and another 2-car garage at semi-basement level. This area is perfect for secure parking, keeping cars safe from the weather. The semi-basement layout allows easy access for vehicles while making good use of the space. For further information or to arrange a viewing, please contact your preferred RE/MAX agent.

## Features

## Rooms

- ✓ Garage : 5.1 x 2.7 m (13.77 m<sup>2</sup>)
- ✓ Garage : 5.07 x 5.1 m (25.86 m<sup>2</sup>)
- ✓ Garage : 5.1 x 3.3 m (16.83 m<sup>2</sup>)
- ✓ Garage : 5.1 x 2.7 m (13.77 m<sup>2</sup>)
- ✓ Garage : 5.1 x 2.7 m (13.77 m<sup>2</sup>)
- ✓ Garage : 5.1 x 2.7 m (13.77 m<sup>2</sup>)

# Gallery





**Alex Calleja**

RE/MAX Professionals - Mosta

M: 99838927

E: alexc@remax.com.mt

T: 27998977

**RE/MAX Professionals - Mosta**

24, Vjal L-Indipendenza, Mosta, Malta